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What	
  we	
  need	
  
TOPIC	
  1	
  
•  Es$ma$on	
  of	
  parameters	
  	
  

–  the	
  likelihood	
  method	
  
–  the	
  min-­‐chi2	
  method	
  

•  Es$ma$on	
  of	
  confidence	
  intervals	
  
–  Neyman’s	
  C.I.and	
  belt	
  method	
  
–  Feldman-­‐Cousins	
  construc$on	
  
–  Use	
  of	
  the	
  likelihood,	
  1D	
  and	
  ND	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  =>	
  tomorrow…	
  

o  Tutorial	
  n.	
  1:	
  Feldman-­‐Cousins	
  construc6on	
  of	
  confidence	
  intervals	
  
	
  
TOPIC	
  2	
  
•  Test	
  of	
  hypotheses	
  

–  the	
  case	
  of	
  neutrino	
  Mass	
  Hierarchy	
  in	
  future	
  experiments	
  

•  Goodness-­‐of-­‐fit	
  
o  Tutorial	
  n.	
  2:	
  Sensi6vity	
  of	
  future	
  experiment	
  to	
  Mass	
  Hierarchy	
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Reminders	
  
Probability	
  laws	
  for	
  a	
  random	
  variable	
  X	
  :	
  

•  X	
  discrete:	
  N	
  possible	
  values	
  x1…xN	
  ,	
  	
  pi=P(X=xi)	
  	
  with	
  0≤pi≤1	
  and	
  

•  X	
  con8nuous:	
  probability	
  law	
  specified	
  by	
  the	
  cumula$ve	
  func$on	
  F(x)	
  

	
  the	
  Probability	
  Density	
  Func$on	
  (PDF)	
  is	
  f(x)	
  such	
  that	
  
	
  
	
  
	
  
	
  
	
  
	
  
The	
  Central	
  Limit	
  Theorem	
  
N	
  independent	
  random	
  variables	
  X1,…,XN	
  
each	
  having	
  a	
  PDF	
  fi(xi)	
  with	
  mean	
  μi	
  and	
  variance	
  σi2	
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pi
i=1

N

∑ =1

F(x0 ) = P(x ≤ x0 )   ;  F(−∞) = 0,F(+∞) =1 F	
  monotonic	
  

f (x)dx = F(x + dx)−F(x) = P(x ∈ [x, x + dx])
so  f (x) = dF

dx
Mul$dimensional	
  PDF	
  for	
  random	
  variables	
  X,Y,Z…:	
  f(x,y,z,…)	
  

S = Xi∑       PDF(S) →
N→∞

Gaus µ = µi,σ = σ 2
i∑∑( )



Reminders	
  
Proper$es	
  of	
  distribu$ons	
  

given	
  a	
  random	
  variable	
  X	
  with	
  PDF	
  f(x)	
  

•  Expecta$on	
  of	
  a	
  func$on	
  g(x)	
  :	
  

•  Mean	
  =	
  expecta$on	
  of	
  X	
  

•  Variance	
  =	
  expecta$on	
  of	
  (x-­‐μ)2	
  
–  standard	
  devia$on	
  σ=√V	
  

•  Covariance	
  (mul$-­‐dimensional	
  case)	
  
–  Correla$on	
  coefficient	
  

•  Variance-­‐Covariance	
  matrix	
  
of	
  N	
  random	
  variables	
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E[g(x)]≡ g(x) = g(x) f (x)dx∫

E[X]= xf (x)dx∫

V[X]= E[ x −E[X]( )2 ]= E[x2 ]− (E[X])2

CXY = E x −E X[ ]( ) y−E Y[ ]( )"# $%
ρXY =

CXY

σ XσY

V =

σ1
2 C12 ... C1N

C12 σ 2
2 ...

... ... ...
C1N ... ... σ N

2

!

"

#
#
#
#
#

$

%

&
&
&
&
&



Reminders	
  
•  Bayes’	
  theorem	
  (on	
  condi$onal	
  probabili$es)	
  

–  A	
  and	
  B	
  are	
  sets	
  of	
  events	
  for	
  random	
  variables	
  Xi	
  

•  Bayesian	
  use	
  of	
  Bayes’	
  theorem	
  
–  not	
  events,	
  but	
  hypotheses	
  
–  P(θi)	
  =	
  “degree	
  of	
  belief”	
  in	
  hypothesis	
  θi	
  	
  
–  X	
  =	
  observed	
  data	
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P A | B( ) =
P B | A( )P A( )

P B( )

P θi | X( ) =
P X |θi( )P θi( )

P X( ) Prior	
  probability	
  

Posterior	
  probability	
  



ESTIMATION	
  OF	
  PARAMETERS	
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Parameter	
  es$ma$on	
  
•  X:	
  random	
  variable	
  with	
  p.d.f.	
  f(x;θ0),	
  where	
  θ0	
  is	
  the	
  true	
  value	
  of	
  an	
  unknown	
  

parameter	
  θ	
  
•  N	
  independent	
  trials	
  of	
  X:	
  x1,	
  …	
  ,	
  xN	
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What	
  can	
  we	
  say	
  about	
  the	
  value	
  of	
  θ0	
  ?	
  

x	
  

f(x;	
  θ)	
   f(x;	
  θ1)	
  

f(x;	
  θ2)	
  

x1	
   x4	
  x2	
  x5	
  x3	
  

Example	
  (N=5)	
  :	
  

Would	
  you	
  say	
  
θ0=θ1	
  or	
  θ0=θ2	
  ?	
  	
  



Parameter	
  es$ma$on	
  
•  X:	
  random	
  variable	
  with	
  p.d.f.	
  f(x;θ0),	
  where	
  θ0	
  is	
  the	
  true	
  value	
  of	
  an	
  unknown	
  

parameter	
  θ	
  
•  N	
  independent	
  trials	
  of	
  X:	
  x1,	
  …	
  ,	
  xN	
  

	
  

Aim:	
  construct	
  a	
  random	
  variable,	
  func$on	
  of	
  the	
  xi,	
  whose	
  expecta$on	
  value	
  
is	
  θ0	
  (at	
  least	
  asympto$cally)	
  and	
  with	
  variance	
  as	
  small	
  as	
  possible	
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tN	
  =	
  h(x1,	
  …	
  ,	
  xN)	
  

tN	
  is	
  an	
  es$mator	
  or	
  sta$s$cs	
  for	
  θ0	
  

:	
  E[tN	
  ]-­‐>	
  θ0	
  

What	
  can	
  we	
  say	
  about	
  the	
  value	
  of	
  θ0	
  ?	
  



Proper$es	
  of	
  es$mators	
  
	
  
	
  

•  tN	
  is	
  an	
  unbiased	
  es$mator	
  of	
  θ0	
  if	
  E[tN]	
  =	
  θ0	
  	
  
–  def.:	
  “Bias”	
  bN=	
  E[tN]	
  -­‐	
  θ0	
  

•  tN	
  is	
  a	
  consistent	
  or	
  convergent	
  es$mator	
  of	
  θ0	
  if,	
  as	
  N-­‐>∞,	
  	
  
	
  bN-­‐>0	
  like	
  1/N	
  and	
  V(tN)	
  -­‐>0	
  like	
  1/N	
  	
  

•  an	
  es$mator	
  which	
  is	
  unbiased	
  and	
  has	
  smaller	
  variance	
  than	
  any	
  other	
  is	
  
op$mal	
  

•  tN	
  is	
  an	
  efficient	
  es$mator	
  if	
  it	
  is	
  unbiased	
  and	
  its	
  variance	
  reaches	
  the	
  
theore$cal	
  lower	
  bound,	
  the	
  “Minimum	
  Variance	
  Bound”	
  (Informa$on)	
  

•  tN	
  is	
  robust	
  if	
  it	
  is	
  independent	
  of	
  the	
  assump$ons	
  on	
  the	
  p.d.f.	
  for	
  θ	
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tN	
  =	
  h(x1,	
  …	
  ,	
  xN)	
  

IN ϑ( ) = −NE ∂2 lnL
∂ϑ 2

#

$
%

&

'
(=MVB−1



ESTIMATION	
  OF	
  PARAMETERS	
  
The	
  Maximum	
  Likelihood	
  method	
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The	
  Maximum	
  Likelihood	
  method	
  
Compute	
  the	
  Likelihood	
  (=“joint	
  probability”)	
  of	
  the	
  set	
  of	
  N	
  independent	
  
trials:	
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L(x1,..., xN ;ϑ ) = f (xi;ϑ )
i=1

N

∏

lnL(x1,..., xN ;ϑ ) = ln f (xi;ϑ )
i=1

N

∑

∂ lnL(x1,..., xN ;ϑ )
∂ϑ

=
∂ ln f (xi;ϑ )

∂ϑi=1

N

∑ = 0Likelihood	
  equa$on	
  :	
  

The	
  Maximim	
  Likelihood	
  Es8mator	
  (MLE	
  )	
  of	
  the	
  parameter	
  θ0	
  is	
  the	
  value	
  	
  
for	
  which	
  L(x;θ)	
  has	
  its	
  maximum,	
  given	
  the	
  par$cular	
  set	
  of	
  observa$ons	
  x1..	
  xN	
  

It	
  is	
  easier	
  to	
  compute	
  sums	
  than	
  products:	
  take	
  the	
  log	
  

ϑ̂ML

ϑ̂ML is	
  a	
  root	
  of	
  the	
  likelihood	
  equa$on	
  (if	
  it	
  exists)	
  



The	
  Maximum	
  Likelihood	
  method	
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θ	
  

lnL(x1…xN	
  ;θ)	
  

ϑ̂ML

lnLmax	
  

∂ lnL(x1,..., xN ;θ )
∂θ

=
∂ ln f (xi;θ )

∂θi=1

N

∑ = 0

ϑ̂ML is	
  a	
  root	
  of	
  the	
  likelihood	
  equa$on	
  (if	
  it	
  exists)	
  

Error	
  on	
  the	
  ML	
  es$mator	
  

the	
  MVB	
  !	
  

Since	
  L	
  is	
  (asympto$cally)	
  
Gaussian	
  because	
  of	
  the	
  CLT,	
  
⇒ Lmax-­‐1/2	
  	
  
gives	
  the	
  “1-­‐sigma”	
  error	
  

lnLmax-­‐1/2	
  

ϑ̂ML +σϑ̂ML −σ

V ϑ̂ML( ) →
N→∞

−E ∂2 lnL
∂ϑ 2

ϑ=ϑ0

%

&
'
'

(

)
*
*

−1

~ −E ∂2 lnL
∂ϑ 2

ϑ=ϑ̂

%

&
'

(

)
*

−1



MLE	
  in	
  prac$ce	
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It	
  is	
  easier	
  for	
  computer	
  algorithms	
  to	
  find	
  a	
  minimum	
  than	
  a	
  maximum,	
  
and	
  we	
  like	
  integers	
  bemer…	
  
	
  
=>	
  minimize	
  -­‐2	
  ln	
  L	
  

θ	
  

-­‐2	
  lnL(x1…xN	
  ;θ)	
  

ϑ̂ML

-­‐2lnLmin	
  

-­‐2lnLmin+1	
  

ϑ̂ML +σϑ̂ML −σ

…	
  but	
  we	
  will	
  s$ck	
  
to	
  maximising	
  lnL	
  



The	
  MLE	
  :	
  proper$es	
  
•  consistent	
  
•  asympto$cally	
  normally	
  distributed,	
  with	
  minimum	
  variance	
  (but	
  may	
  have	
  more	
  than	
  one	
  

max	
  for	
  finite	
  N)	
  
•  for	
  finite	
  N,	
  op$mal	
  only	
  under	
  Darmois	
  theorem	
  (exp.	
  family):	
  	
  

•  invariance:	
  the	
  MLE	
  	
  	
  	
  	
  	
  	
  of	
  a	
  func$on	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  is	
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τ	
  

lnL(x1…xN	
  ;τ)	
  

τ̂ML

lnLmax	
  

lnLmax-­‐1/2	
  

τ̂ML +στ

f x;ϑ( ) = exp a x( ) ⋅α ϑ( )+ b x( )+β ϑ( )( )

τ̂ τ ϑ( ) τ̂ = τ ϑ̂( )

θ	
  

lnL(x1…xN	
  ;θ)	
  

ϑ̂ML

lnLmax	
  

lnLmax-­‐1/2	
  

ϑ̂ML +σϑ̂ML −σ
τ̂ML −στ

Viceversa:	
  
can	
  find	
  a	
  transforma$on	
  
that	
  makes	
  L	
  Gaussian	
  !	
  



Simple	
  examples	
  
•  MLE	
  of	
  the	
  mean	
  of	
  a	
  Gaussian	
  

it	
  is	
  easy	
  to	
  verify	
  that	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  (unbiased)	
  and	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  (efficient)	
  	
  	
  

•  Es$mate	
  of	
  σ,	
  or	
  rather	
  of	
  the	
  Variance	
  V=σ2	
  	
  (not	
  strictly	
  with	
  ML)	
  
	
  
it	
  is	
  natural	
  to	
  use	
  the	
  sample	
  variance	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ,	
  which	
  is	
  “good”	
  if	
  μ	
  is	
  known.	
  
	
  
If	
  μ	
  is	
  not	
  known	
  it	
  needs	
  to	
  be	
  replaced	
  by	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  and…	
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f (x;µ) = 1
2πσ

exp −
x −µ( )2

2σ 2

"

#
$
$

%

&
'
' σ	
  known	
  

L(x1,.., xN ;µ) = 1

2πσ( )
N exp −

xi −µ( )2

2σ 2

"

#
$
$

%

&
'
'

i=1

n

∏      lnL(x1,.., xN ;µ) = −
xi −µ( )2

2σ 2
i=1

N

∑ − N ln 2πσ( )

∂ lnL(x1,.., xN ;µ)
∂µ

=
1
σ 2 xi −µ( )

i=1

N

∑ = 0   ⇔    µ = 1
N

xi
i=1

N

∑ ≡ µ̂ML
The	
  MLE	
  of	
  the	
  mean	
  is	
  
the	
  sample	
  average:	
   µ̂ML = x

µ̂ML → µ  for N→∞ V µ̂ML( ) = σ
2

N

V̂ =
1
N

xi −µ( )2
i=1

N

∑

µ̂ML = x

xi − x( )2
i=1

N

∑ = xi
2 − 2xix + x

2( )
i=1

N

∑ = xi
2 − 2x

i=1

N

∑ xi
i=1

N

∑ + Nx = xi
2 − 2Nx

i=1

N

∑ + Nx = xi
2 − x 2( )

i=1

N

∑

E 1
N

xi
2 − x 2( )

i=1

N

∑
#

$
%

&

'
(= E

1
N

xi −µ( )− x −µ( )( )
2

i=1

N

∑
#

$
%

&

'
(=

1
N

E xi −µ( )2
i=1

N

∑
#

$
%

&

'
(−E x −µ( )2#

$
&
'

)

*
++

,

-
..=V x( )−V x( ) =V x( )− 1

N
V x( )

so   E 1
N

xi − x( )2

i=1

N

∑
#

$
%

&

'
(=V x( ) 1− 1

N
)

*
+

,

-
. ≠V x( ) =>	
  use	
  “Bessel’s	
  correc$on”	
  to	
  obtain	
  an	
  unbiased	
  es$mator	
   V̂ =

1
N −1

xi − x( )2
i=1

N

∑



Simple	
  examples	
  
•  ML	
  and	
  weighted	
  average	
  
	
  
measurements	
  with	
  the	
  same	
  mean	
  μ	
  and	
  different	
  variances	
  Vi=σi2,	
  which	
  are	
  known:	
  es$mate	
  μ	
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f (xi;µ) =
1
2πσ

exp −
xi −µ( )2

2σ i
2

"

#
$
$

%

&
'
'

L(x1,.., xN ;µ) = 1

2πσ i( )
N exp −

xi −µ( )2

2σ i

2

"

#
$
$

%

&
'
'

i=1

n

∏      lnL(x1,.., xN ;µ) = −
xi −µ( )2

2σ i
2

i=1

N

∑ − N ln 2πσ i( )

∂ lnL(x1,.., xN ;µ)
∂µ

=
xi −µ( )
σ i

2
i=1

N

∑ = 0   ⇔    µ =
(xi σ i

2 )
i=1

N

∑

(1 σ i
2 )

i=1

N

∑
≡ µ̂ML

The	
  MLE	
  of	
  the	
  mean	
  is	
  
the	
  weighted	
  average	
  



Nuisance	
  parameters	
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Parameters	
  whose	
  value	
  are	
  not	
  of	
  interest	
  	
  
but	
  which	
  need	
  to	
  be	
  taken	
  into	
  account	
  to	
  es$mate	
  the	
  parameter	
  of	
  interest	
  

A	
  more	
  general	
  approach	
  :	
  
-­‐  assume	
  the	
  Likelihood	
  to	
  factorize	
  
-­‐  assume	
  normal	
  distribu$ons	
  with	
  known	
  mean	
  and	
  sigma	
  for	
  the	
  nuisance	
  parameters	
  

One	
  op$on	
  :	
  
-­‐  fix	
  the	
  nuisance	
  parameters	
  

to	
  a	
  given	
  value	
  
-­‐  maximise	
  L	
  with	
  respect	
  to	
  

interes$ng	
  parameters	
  	
  
=>	
  “PROFILE	
  LIKELIHOOD”	
  

L(X,θ1,θ2)	
  

θ1	
  

θ2	
  

L(X,θ1)	
  

θ1	
  θ2=-­‐0.5	
  

lnL X |ϑ1,ϑ 2( ) = lnL X |ϑ1( )−
ϑ 2 −µ( )2

2σ 2

Nuisance	
  term	
  



ESTIMATION	
  OF	
  PARAMETERS	
  
The	
  Least	
  Squares	
  method	
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The	
  Least	
  Squares	
  method	
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
X = {x1,..., xN}


M

ϑ( ) = {m1


ϑ( ),...,mN


ϑ( )} = {E X1[ ]


ϑ( ),...,E XN[ ]


ϑ( )}

V:	
  covariance	
  matrix	
  
of	
  the	
  data	
  (NxN)	
  

Q(

X,

ϑ ) =


X −

M

ϑ( )"

#
$
%
T
V −1


X −

M

ϑ( )"

#
$
%= xi −mi


ϑ( )"

#
$
%

j=1

N

∑ V −1( )ij
i=1

N

∑ x j −mj


ϑ( )"

#
$
%


ϑ = {ϑ1,...,ϑK}

Vii =σ i
2 ⇒Q =

xi −mi


ϑ( )#

$
%
&
2

σ i
2

ϑ( )i=1

N

∑

Case	
  k=1	
  (1	
  parameter):	
  

V ϑ̂ LS( ) →
N→∞

2 E ∂2Q
∂ϑ 2

$

%
&

'

(
)
ϑ=ϑ0

$

%
&
&

'

(
)
)

−1

~ 2D2
−1

ϑ=ϑ̂LS

θ	
  

Q	
  

ϑ̂ LS

Qmin	
  

Qmin+1	
  

ϑ̂ LS +σϑ̂ LS −σ

N	
  observa$ons	
   Expecta$on	
  values	
  depending	
  on	
  k	
  parameters	
  

Consider	
  the	
  quadra$c	
  form	
  	
  

The	
  Least	
  Squares	
  Es$mator	
  of	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  is	
  the	
  value	
  minimising	
  Q	
  

ϑ , 

ϑ LS

Par$cular	
  case:	
  independent	
  observa$ons,	
  V	
  diagonal:	
  



The	
  Least	
  Squares	
  es$mator:	
  proper$es	
  
•  The	
  LSE	
  can	
  be	
  shown	
  to	
  be	
  consistent,	
  in	
  general	
  biased,	
  non-­‐op$mal	
  
•  Case	
  of	
  the	
  linear	
  model	
  

–  if	
  the	
  σi	
  are	
  independent	
  of	
  θ	
  and	
  the	
  μi(θ)	
  are	
  linear	
  func$ons	
  of	
  θ,	
  then	
  the	
  
minimisa$on	
  can	
  be	
  done	
  analy$cally	
  and	
  the	
  es$mator	
  is	
  op$mal	
  and	
  convergent	
  	
  

•  What	
  about	
  the	
  asympto$c	
  distribu$on	
  ?	
  
–  case	
  of	
  xi’s	
  normally	
  distributed:	
  
	
  
then	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  is	
  distributed	
  according	
  to	
  a	
  χ2	
  law	
  	
  
with	
  N	
  degrees	
  of	
  freedom	
  
	
  
	
  
	
  
	
  
	
  
When	
  the	
  model	
  is	
  linear,	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  is	
  distributed	
  according	
  to	
  a	
  χ2	
  law	
  with	
  N-­‐K	
  
degrees	
  of	
  freedom	
  	
  
and	
  	
  	
  	
  	
  	
  according	
  to	
  a	
  N-­‐dim	
  normal	
  law	
  with	
  mean	
  	
  	
  	
  	
  	
  and	
  variance	
  2D2

-­‐1	
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f xi;

ϑ( ) =G xi;µi


ϑ( ),σ i


ϑ( )( )

Qo =
xi −µi


ϑ( )"

#
$
%
2

σ i
2

ϑ( )i=1

N

∑

f Q0( ) = Q0
N /2−1

2Γ N / 2( )
e−Q0

2 /2             Q0 = N,V Q0( ) = 2N

Qmin =Q0 ϑ̂( )
̂
ϑ


ϑ 0



Applica$ons:	
  fi}ng	
  a	
  histogram	
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Histograms	
  with	
  N	
  bins	
  (N	
  large),	
  Yi	
  events	
  in	
  each	
  bin,	
  E[Yi]=fi(θ)	
  
the	
  number	
  of	
  events	
  per	
  bin	
  follows	
  a	
  mul$nominal	
  distribu$on	
  with	
  σi2=E[Yi]=fi(θ)	
  

x	
  

Y1	
  

Y2	
  
Y3	
  

YN	
  

f(θ)	
  

Find	
  an	
  es$mator	
  for	
  θ	
  



Applica$ons:	
  fi}ng	
  a	
  histogram	
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Histograms	
  with	
  N	
  bins	
  (N	
  large),	
  Yi	
  events	
  in	
  each	
  bin,	
  E[Yi]=fi(θ)	
  
the	
  number	
  of	
  events	
  per	
  bin	
  follows	
  a	
  mul$nominal	
  distribu$on	
  with	
  σi2=E[Yi]=fi(θ)	
  

Least	
  square	
  es$mator	
  of	
  θ	
  :	
  minimize	
   Q2 =
Yi − fi ϑ( )"# $%

2

fi ϑ( )i=1

N

∑ :	
  the	
  usual	
  “minimum	
  chi-­‐square	
  method”	
  

In	
  general	
  no	
  predic$ons	
  on	
  its	
  proper$es	
  if	
  there	
  are	
  few	
  events	
  in	
  some	
  bins.	
  
However,	
  it	
  can	
  be	
  proven	
  to	
  have	
  op$mal	
  asympto$c	
  proper$es:	
  consistent,	
  asympto$cally	
  
Normal,	
  efficient	
  

Reasonable	
  to	
  use	
  <Yi>=fi(θ)	
  and	
  minimize	
  	
   Q'2 =
Yi − fi ϑ( )"# $%

2

Yii=1

N

∑ :	
  “modified	
  min.	
  chi-­‐square	
  method”	
  

Same	
  proper$es	
  as	
  Q2	
  asympto$cally	
  (for	
  large	
  N)	
  

Maximum	
  Likelihood	
  method	
  (Mul$nomial)	
   lnL = Yi ln fi ϑ( )
i=1

N

∑ :	
  “Binned	
  Max.	
  Likelihood	
  method”	
  

Asympto$cally	
  equivalent	
  to	
  the	
  previous	
  two,	
  but	
  converges	
  faster.	
  And	
  no	
  problem	
  with	
  low-­‐
content	
  or	
  empty	
  bins.	
  Recommended	
  !	
  
P.S.:	
  converges	
  to	
  “unbinned	
  M.L.”	
  when	
  N-­‐>∞	
  



Extended	
  Maximum	
  Likelihood	
  
•  The	
  total	
  number	
  of	
  events	
  does	
  not	
  intervene	
  in	
  the	
  maximisa$on	
  of	
  lnL	
  if	
  it	
  is	
  

independent	
  of	
  the	
  parameter	
  
•  If	
  Ntot	
  depends	
  on	
  the	
  parameter	
  =>	
  Extended	
  Maximum	
  Likekihood	
  (EML)	
  

Case	
  of	
  a	
  histogram:	
  	
  
in	
  each	
  bin,	
  Poisson	
  distribu$on	
  with	
  mean	
  fi(θ)	
  and	
  number	
  of	
  events	
  per	
  bin	
  Yi	
  	
  
	
  
	
  
	
  
	
  
	
  
iden$cal	
  to	
  ML	
  if	
  Ntot	
  does	
  not	
  depend	
  on	
  θ	
  

	
  
⇒  ML	
  (normalisa$on	
  independent	
  of	
  the	
  parameter)	
  uses	
  shape	
  
⇒  EML	
  (normalisa$on	
  dependent	
  on	
  the	
  parameter)	
  uses	
  shape	
  +	
  normaliza$on	
  

•  Same	
  results	
  when	
  Ntot	
  is	
  independent	
  of	
  θ	
  	
  
•  Needs	
  care	
  in	
  the	
  interpreta$on	
  of	
  errors	
  (e.g.	
  when	
  size	
  and	
  shape	
  are	
  not	
  indep.)	
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fi (Yi,ϑ ) = fi (ϑ )Yi e− fi (ϑ ) /Yi!        Yi
i=1

N

∑ = Ntot ϑ( )

lnL = Yi ln fi ϑ( )−
i=1

N

∑ fi ϑ( )− lnYi!= −Ntot ϑ( )+ Yi ln fi ϑ( )+ cste
i=1

N

∑



ESTIMATION	
  OF	
  CONFIDENCE	
  INTERVALS	
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Interval	
  es$ma$on	
  
Find	
  the	
  range	
  [θL,θU]	
  which	
  contains	
  the	
  true	
  value	
  θ0	
  with	
  a	
  given	
  
probability	
  β	
  :	
  

P(θL<θ0<θU)	
  =	
  β	
  
[θL,θU]	
  is	
  the	
  Confidence	
  Interval	
  for	
  θ	
  with	
  probability	
  content	
  β	
  
	
  

In	
  physics,	
  o�en	
  used	
  for	
  “errors”:	
  1σ	
  ó	
  β=68.3%,	
  2σ	
  ó	
  β	
  =	
  95.5%	
  	
  	
  etc.	
  
Strictly	
  true	
  only	
  for	
  Normal	
  distribu$ons	
  !	
  

	
  
	
  
Probability	
  content	
  of	
  a	
  region	
  [a,b]	
  in	
  the	
  space	
  of	
  the	
  variable	
  X,	
  given	
  the	
  
PDF	
  of	
  X	
  and	
  if	
  the	
  parameter	
  θ	
  is	
  known:	
  
	
  
If	
  θ	
  is	
  unknown:	
  find	
  a	
  new	
  variable	
  such	
  that	
  its	
  PDF	
  is	
  independent	
  of	
  θ	
  =>	
  
find	
  the	
  range	
  of	
  θ	
  such	
  that	
  P(θa<θ0<θb)	
  =	
  β	
  
-­‐	
  property	
  of	
  COVERAGE	
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β = P(a < X < b) = PDF X |ϑ( )
a

p

∫ dX



Interval	
  es$ma$on:	
  general	
  case	
  1-­‐D	
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Construc$on	
  of	
  Neyman’s	
  confidence	
  belt	
  

1.  For	
  a	
  given	
  value	
  of	
  the	
  parameter	
  μ,	
  
draw	
  the	
  interval	
  with	
  probability	
  content	
  
α	
  (horizontal	
  line)	
  
•  arbitrary	
  posi$oning…	
  here	
  we	
  choose	
  a	
  

symmetric	
  one,	
  leaving	
  out	
  (1-­‐α)/2	
  on	
  each	
  side	
  
2.  Repeat	
  for	
  all	
  values	
  of	
  μ	
  =>	
  you	
  have	
  the	
  

Confidence	
  Belt	
  
3.  Consider	
  the	
  result	
  x	
  of	
  your	
  experiment	
  

and	
  draw	
  a	
  ver$cal	
  line	
  
4.  Take	
  the	
  values	
  μlow	
  ,	
  μup	
  where	
  the	
  

ver$cal	
  lines	
  intersects	
  the	
  confidence	
  
belt	
  

5.  The	
  interval	
  [μlow	
  ,	
  μup]	
  is	
  the	
  Confidence	
  
Interval	
  with	
  probability	
  content	
  α	
  for	
  the	
  
true	
  value	
  μ0	
  of	
  the	
  parameter	
  μ	
  

x	
  

f(x;	
  μ)	
   f(x;	
  μ=2)	
  
α	
  

μup	
  

μlow	
  



Interval	
  es$ma$on:	
  problems	
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90%CL	
  upper	
  limit	
  for	
  
the	
  mean	
  of	
  a	
  Gaussian	
  	
  

90%CL	
  central	
  interval	
  for	
  
the	
  mean	
  of	
  a	
  Gaussian	
  	
  

Both	
  ensure	
  correct	
  coverage	
  if	
  
the	
  choice	
  is	
  made	
  beforehand	
  

However,	
  suppose	
  that	
  …	
  
1)  you	
  decide	
  to	
  use	
  (a)	
  if	
  your	
  result	
  is	
  x>3	
  and	
  (b)	
  if	
  x<3	
  

•  FLIP-­‐FLOPPING	
  
2)  you	
  don’t	
  want	
  nega$ve	
  values,	
  because	
  allowed	
  physical	
  

values	
  for	
  your	
  parameter	
  can	
  only	
  be	
  posi$ve	
  (e.g.	
  mass)	
  
•  UNPHYSICAL	
  VALUES	
  

…	
  so	
  you	
  use	
  this	
  confidence	
  belt	
  

(a)	
   (b)	
  

Coverage	
  
<90%	
  !!!	
  

G.J.	
  Feldman	
  and	
  R.D.	
  Cousins,	
  Phys.Rev.D57:3873-­‐3889,1998	
  	
  	
  



Interval	
  es$ma$on:	
  Feldman-­‐Cousins	
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G.J.	
  Feldman	
  and	
  R.D.	
  Cousins,	
  Phys.Rev.D57:3873-­‐3889,1998	
  	
  	
  

Feldman-­‐Cousins	
  “unified	
  approach”	
  (originally	
  for	
  neutrino	
  physics):	
  
likelihood	
  ra6o	
  ordering	
  principle	
  

•  in	
  the	
  interval	
  for	
  μ=μ0,	
  include	
  the	
  
elements	
  of	
  probability	
  P(x|μ0)	
  giving	
  
the	
  largest	
  value	
  of	
  the	
  likelihood	
  
ra$o	
  

where	
  	
  	
  	
  	
  	
  is	
  the	
  value	
  of	
  μ	
  for	
  which	
  P(x|μ)	
  is	
  
maximal	
  within	
  the	
  physical	
  region.	
  
	
  

R(x) = P(x |µ0 )
P(x | µ̂)

µ̂

è	
  Hands-­‐on	
  session	
  today	
  



Example:	
  measuring	
  θ13	
  in	
  Double	
  Chooz	
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S.	
  Schoppmann,	
  RWTH	
  Aachen	
  
DC	
  internal	
  mee$ng,	
  2012	
  

(confiden$al	
  ???	
  !!!)	
  
	
  

“Alterna$ve	
  method”	
  to	
  the	
  published	
  analysis	
  



SUMMARY	
  

•  Parameter	
  es$ma$on	
  
–  The	
  Maximum	
  Likelihood	
  Es$mator:	
  construc$on	
  and	
  proper$es	
  
–  The	
  Least	
  Squares	
  es$mator:	
  construc$on	
  and	
  proper$es	
  
	
  

•  Es$ma$on	
  of	
  confidence	
  intervals	
  
–  general	
  case	
  1D:	
  Neyman	
  belt	
  construc$on	
  
–  the	
  Feldman-­‐Cousins	
  approach	
  

–  hands-­‐on:	
  the	
  Feldman-­‐Cousins	
  approach	
  

–  use	
  of	
  the	
  Likelihood	
  func$on	
  
–  case	
  of	
  mul$ple	
  parameters	
  
–  Bayesian	
  credibility	
  intervals	
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